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hwpybnnt dwiwbwlwpowl / 2-pnh fhuudpuly/
wnwpblywhb
GYwintnGbph woywanwip pInLot Jun. %
2-pn} Yhuwdjw huunfu| 1 %
thwuwn. nwpkljwl
wjwa ujputh
) D uwuh
Yuamfu | 4 ndundp
hwq. npwd up

Jwpswywh dwu 728148,3 728148,3 508397,17 69,8 69,8
COnwdkop hwpytp L wnipptip 199434 199434 151205,6 75,8 75,8

1. Lwplyuyht Gwldnunbn wyn pynd’ 162850 162850 119049,28 73,1 731
w) hnnh hwnply 23650 23650 11800,93 49,9 49,9
ww) $hghwywlwh whdwighg 20520 20520 9073,14 44,2 44,2
wp) hpwywpwiwywh wodwighg 3130 3130 2727,79 87,1 87,1
p) gnypwhwnl 139200 139200 107248,35 77,0 77,0
pw) $hghwlwywl whdwighg 114900 114900 83752,56 72,9 72,9
pp) hpujwpwbwlwb wiawlghg 24300 24300 23495,79 96,7 96,7
2. Sbnuidywl tnippln wyn pymd’ 19584 19584 17420,27 89,0 89,0
w) SwiwGph nwpwépnid Gnp 260pEPhH, 2h0nieinLbatph
(Gbpwryw| ng hhibwywa) 2hiwpwpnignil (nbnwnpdwa) 500 500 1192,7 N _
pnynynipjwl hwdwp, nphg’
ww) <hdbwlwh 2hGnigntl. hwdwp 500 500 1192,7 g =
wp) Ng hhdOwywa 2hGnignubltnh hwdwp
p) <wiwybph Jupswywl tnwpwédpnud pkaptiph, 2hintg,
puwnwpwzhOwlwi wy optiwnbph Ybpwlwenigdw,
nidbnwgiwo, Yepwlwbgqiw,wpnhwluwbwgdwh 30 30
wfuwinwbpltp (pugwenipjwip <<€ opthunpnipjudp = v
uwhiwOyws zhlwpwpnipjwb pnyjnynipnid swwhwbgynn =
nbwptiph) Yuwunwpbint pnyiunynigjub hwdwp
q) <wiwjiph Yupswyw nwpwdpnid 2t0ptph, 2hinte,
pwnwpwhGwlwl wy opjbyntph pwlndwh pnyiunynipwi 20 20 70 - =
hwdwn
n) <wiwjph tnwpwdépntd ngbihg fudhgpltph Ywaweph 3237 3237 3244 _ ~
hwdwn qubdynn nbn.unnupp
&) <wiwlph twpwépntd Sfuwfuninh wipuwnpwbph
Ywéwneph hwiwn qubdynn wnkn.wnnppp 2643 2643 2585,7_5 97,8 97,8
q) $wiw)Gph tnwpwépnid pwgopjw Ywswep Yuqdwlyspwbing
pnunLpRuG huiduwp 300 300 641,96 = o
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puwnGhpltpp (uwntOwibnp) Juwnwnbtipp dwdp 24.00hg htwnn
wfu. poyuy. hwiwp
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6500
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220
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200
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100,0
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939

1028,75
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750

906,25
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17000

17000

14736,05

86,7

86,7

w) Pwnuwpwghwljwh whnkn gpuwbgting, npwg dwuh
puwnwpwghGtiphl Ypyowyh Yywjwywotn, punuwpwghwlwi
Luwgntpjwl wlintpnid junwpywé gpuentdbtpnud
thnthnfuntgntGobn, pugnudttn, nupnudtbp uwnwnpbine L
Ubpwiwiqliwl Ywwwlg Yywjwywaokp tnwint hwdwp

5500

5500

5872,45

p) Unuinwpwljw gpwubbuyotph Ynndhg Gnunwpwlwl
Swewjnipyntblbp Ywnwnpbing, tninwpwyw Yupgny
Juwytpwgyws thwuwnwpenptph Ynytophbwllbp wnwint,
02w dwnshaGtph Ynnshg gnpéwnpltiph Gwluwgdtn L
nhdnuiltn Yuqdbing thwunwenpbph wwinstotn hwibin L
nnwighg pwnywdplbn tnwint hwdwp

11500

11500

8863,6

L

77,1

4. Mupwnnbwlywl ppwdwplnphbbp wyn pynid”

322702,6

322702,6

242027

75,0

75,0
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75,0

P) wy) nnunwghw

q) umpytlghw

1) owwpbpypju whnmpymibbphg wpyng
wnpubudbpbp

k)wkw. pnigkhg wpuiunpnn wy gnunwughu
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85850
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65,7
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5.1 Gnyph Yupdwywnipntbhg GYwinunbtp wjn pynid”

15100

15100

8053,69

53,3
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w) wiw)Gph ubthwwbnipnid hwdwnynn hantph
Jupdwlwinipjwi Jupdwyswpltp

1350

1350

590,94

43,8

43,8

) wiw)bph Jupswywi mu}nmapnu} qulynn wewnipjwl L
hwiwGph ubithwywonteubp wwwnlwnn hnqwdwubph
Ywenigwy. hpwyniGph nhiwg quiddnn Jwnpdwyswnltn

3350

3350

1021,75

30,5

30,5

q) Wi gnyph Jupdwlwinipiniihg dntunplin

7400

7400

4477,7

60,5

60,5

n) Wi gnijph Jundwywinipniihg dniiptip

3000

3000

1963,3

65,4

65,4

5.2 Jwpswlwl qubdnidbbp wyn pynud’

33150

33150

19849,27

59,9

59,9

w) Sknwlw Yawnpltp

850

850

1075

126,5




wiw) Usnipn-Jwswep Ywqiwybputint hwdwp wnbnuwywh

600 600 160 26,7 26,7

Yawn
wp) Chowpwpniejwl nkuph thnthnfunipjuwl L
Ybpwywenigdwl hudwn Jéwp b = it = =
wq)Chwn wiwpunp thwuwnwgp dawn 200 200 275 _ "
wry) Qwithwgpwywb wfuwnwbplbph Swpwjnpwi Jswnp
p) <wiw)Gph Jupswlwl tnwpwépntd hiphuwlwd Ywenigywd 300 300 409.17
260ptnh, 2hGnigynLaltph ophlwlwiwgiwl hwdwn Jawpobn % = =

uUnunlkp, i} i oklipk dwh
:‘1’53} kljundnunbbp, puqUusphuuput 26UpEph v 32000 32000 18365,1 574 | 574
5.3 Jwngulwl hpwywiuwuwnnidGeph hwidwpn nbEqwlwo
hpGwywewywniw SwpdhGGtph Ynndhg 600 600 3229,3 s _
wwinwufuwbwnynipjul thengltiph Yhpweniihg GYwdnunbbp
5.4 Opblpny L hpwywlwl wy wlwnbpny uwhdwbywd’
hwdwGph pnigth dniinpugniwl Lhpwyw wy| BYwdnunbtn ( 37000 37000 25289,33 68,3 68,3
wpwhwhmipynil)
6. Shquijwl JEwplkp hunfwjuph bup. twhunupnguljub i
wpunwnupngulub huunuwnnypyniitibphg oquinnutphg 114707,6 114707,6 54939,55 47,9 479
quiidynn dunquiljub J&wplkp
w) Uptnwpuin hudugph phy 1 twijuwuupnkq 2nuy
p) Upnugwn huwdwjuiph phy 3 dwbjuywpnkq 2004 13608 13608 6976,2 51,3 51,3
q) Upwnugwin hunfwyiph phy 4 Uwlljuuyupnkg 2004 19656 19656 10665,3 54,3 54,3
1) Upwnwpuna hunfwjbph phy 5 dwlijwuywpnkq 2004 24696 24696 10460,2 42,4 42,4
&) Upwnwpuin hwifutiph phy 6 dwjwuununtq 2nuu 9450 9450 3023,82 32,0 32,0
q) Upnwpunn hunfwjbiph phy 7 dwbljwywpnkq Z0UY 10332 10332 4816,65 46,6 46,6
b) Upuwpwin hunfugiph ph 8 dwbjuywpnkq 2004 177456 17745,6 6985,68 39,4 39,4
p) Uprnwguin hufujiph bpwdpnulwl nupng 2004 19220 19220 12011,7 62,5 62,5
7. Ubwubwpnydh dwnwympjntihg oquiyint nhuwg Y&wp 100 100 28,8 28,8 28,8
8. MbEwn.Yynnohg inbnuwywa hbplwywewywniwd Gwpdhbbepha
wwnyhpuyyuwé (hwgnpnipyntbltiph hpwywbwgdwl dwiuutiph =
Phiwbuwynniwd hwdwp wenwyw pjnitokihg utnwgynn 3t 33541 BT L L
dhengltin, nphg’
w) LUUGE Swnwjnipjuwl hwdwn 5354,1 5354,1 3774,63 70,5 70,5




Snunuyht duu 43026,757.1 43026,757.1 30431,367.1 71,0 71,0

9. Mwpinnbwlywl npwdwGnphbbn win pynid”

ut, Meunwlw pngthg Ywughunwy dwluubph r

$htwbuwdnpiwl Gupwunwuwihl hwwnlwgnidbtp

(untpybOghwibn)

p- Clipuighly umpykghw

10. Qnyph ownwnpnidhg dninplbp, wn pynd’ 25200 25200 12604,61 50,0 50,0

w) hnnh ownwpnudh g dnuunpbip 15400 15400 8612,11 55,9 55,9

p) wyi gnyph ownwpniihg dninptip 9800 9800 3992,5 40,7 40,7

11. Qwpy. poigkh wwhnwwn, $ninhg hwnljugnid

$nuuyhl pyoigk

12. Swpbuligph wquun vGwgnpn, wyg pynid” 17826,757.1 17826,757.1 17826,757.1 1} a

w) Ydwpswuwl dwu 15975,014.1 15975,014.1 15975,014,1 L -

p) dnlnuwyhl dwu 1851,743 1851,743 1851,743 o 2
OLIUUGLD BuuuNtsuLn 771175,075.1 | 771175,075.1| 538828,537.1 70,0 70,0




